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QUESTION 1

To correctly read the Excel? file shown below,

! A ' B ' c ' D "

S 1 | — Srie—

m
4
T a1

Basic Customer Information: Example Layout

|CUSTOMER_ID GENDER CREDITLIMIT ZODIAC E-MAIL ADDRESS Zlp
723 F 026 1 name7502@tnet.fr 181BBO
724 M 5223 3 name25485@wwmail.org 1132DG
725 F 663 8 namelss43@wwmail.de 1803%T
726 M 8302 6 name2B8335@zigzag.be 1205WR
727 F 997 8 name5334@tnet.jp 17110N
728 M 1955 3 name20637@wwmail.es 1055FG
29 F BE9E 5 name20636@wwmail.es 1254MR
730 F 6488 11 namel0dld@inet.inc 1723DG
730 F 6488 11 namelddld@inet.inc 1723DG
730 F o488 11 name 1{}414@tn et.inc 1723DG

\"» M| Sheetl . SheetZ . Sheet3 . d 4 0 | m I 1

which dialog box settings are appropriate?

A.

B.
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Choose worksheet @ Byindex | o[
© By name _ |

Range on worksheet ) Range starts on first non-blank row
8 Explicit range of calls |A3 | |F13 |

Onviankrows: (RmeSNGe

[ First row has column names

) (oms) ()

D\ModelerCentProjectz\Figures\Example File_ltern0 15 dsx

0 it Tpes, Ammosions
File type:

Impart e ID ModelerCenProject2FiguresiExample File_ltem015 xisx] W
] Use named range
=
Choose worksheet @ Byindex [ o
2 By name -

Range on worksheet £ Range staris on first non-blank row
@ Explicit range of calls |aa | [F12 |

onviankiows:  (EERMASERE

I”] Firstrow has column names
o) s

C.

D.
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Impaort file: |D.Hnﬁe|ercerijeﬂ2!ﬁg:lmsEﬂm-e Flla_llarnnﬁ.:dsxi @
[F] Use named ranga
|
Choose worksheet @ Byindex [ o
&) By name |

Range on worksheet @ Range staris on first non-biank row
2 Explicit range of calls

onvancrows: (ESIMEIANE

[ First row has column names

(oK) ) ) ()
i (2w (e D=

D\ModelerCentProjectz\Figures\Example File_ltem015.dsx

Oai3 Fiter Tpes. Annotaions.

File type: : -
Impart fila |D.Wndeler:a|frnjed2ﬁmresﬁampm FI.Ia_Ilamuﬁst:i u
] Use named range
=]
Choose worksheet @ Byindex L o
2 By name |

Range on worksheet @ Range staris on first non-blank row
i) Expiicit range of calls

onpiankiows: {EEAMSSSds

¥ Firstrow s column names
(Lox ) cancet)

Correct Answer: D

QUESTION 2
True or false: running Auto Dataprep results in data transformation nodes placed in a Supernode on the canvas.

A. True
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B. False

Correct Answer: B

QUESTION 3

How many phases are in the CRISP-DM Process Methodology?
A. Four

B. Five

C. Six

D. Seven

Correct Answer: C

QUESTION 4

Which method would be used on the Merge node in order to combine a file containing 100 products and a file containing
50 suppliers and retain only the matching records?

A. Inner join

B. Anti-join

C. Full outer join
D. Partial outer join

Correct Answer: A

QUESTION 5

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical
Measurement level?

A.

B.
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Cristribeurtiomn

-

ek

o

Plot

fa

Histagram

Correct Answer: A
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